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1. Work out 67 x 48

You must show your working out.
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2. Work out 94 x 63

You must show your working out.
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Answers
1. 1. ....3216. ...
FYTI: appropriate method M1 e.g.
48 x 67
2/4 4/8
*/s °/6
or v.v. 67 x 48
2/4 2/8
4/8 5/6
or 60 x 48 = 2880 = (240 + 48) x 10
7 x 48 = 336 = 280 + 56
or v.v. 40 x 67 = 2680 = (240 + 28) x 10
8 X 67 = 536 = 480 + 56
2. ....9922. ...
2. FYI: appropriate method M1 e.g.
63 x 94
5/4 2/7
2/4 1/2
or v.v. 94 x 63
5/4 2/4
2/7 1/2
or 90 x 63 = 5670 = (540 + 27) x 10
4 x63=252=240+12
or v.v. 60 x 94 = 5640 = (540 + 24) x 10
3x94=282=270+12
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